Math 2568, Quiz #3, Spring 2015 Name KEY

Instructions: Show all work. Some problems will instruct you to complete operations by hand, some can
be done in the calculator. To show work on calculator problems, show the commands you used, and the
resulting matrices. Give exact answers (yes, that means fractions, square roots and exponentials, and
not decimals) unless specifically directed to give a decimal answer. This will require some operations to
be done by hand even if not specifically directed to. Be sure to complete all parts of each question.

x1+2x2~3x320
1. Solve the system of equations 12x1 + x, — 3x3 = 0 and write the solution in parametric form.
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2. Determine if the following sets are subspaces. Be sure to check all the necessary conditions or
find a counterexample.

a. v={[]xy =0} Mad,uj)afdlcb

5\/)(720 ’ﬂxtw—boﬁl)ﬁ,la Z0 o X,y &0
ﬁym Bovaidiv Tl veilon *SKM,( [’—‘q botl ave.

w V. bt [s]e[]=]7 w&vwmf’“‘&“ 4 C2Ie)
[ awt.[/wfzko not clooed ”u“ﬁ“'

b, H—szt::‘StER} = H= L 57[__31{ waWw

5t
'6‘3"‘6 20 Afar(0 @ i fha

(S+a) oy e Bl {:tb s aad oot reat..
A(s+a) =30+l | closed urder

8?&(‘.0.
@ [3‘5 *r‘H,] Saw-‘!b] [ 3(sta) +4(t+h) shach Loa. veclor ¢ The W%MFM

‘2.3?-’-3&

s LZ@— 3b

| 2056 % 3(kF)

Stk S

Q@ | [yt r‘scts)rqcbﬂ ol M,de—mmi#ﬁu :

25 3t
St




. The set of all complex numbers. @zﬂ't"éf Q d¢bd/’£ Ml
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d. Polynomials of the form p(t) = 1 + bt + ct2.
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